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T3 EEHh HA| RH 5t s = =1 g ZE| TR FEHE
(kg) (kg) (kg)
XiR FE, B 10]  #@xt 7,000 1,512 1,296 864  # 8, 000
AS EE 10, #Ext 7,000 2, 808 1,944  # 7,000
THRIIES M a5 4|  FBx 2,000 1,944 324 # 8, 000
=E2 R 10, #@xt 4,000 1,296 # 4,000
7K R 0.2 #Ext 1,100 65 # 1,100
INRER a5 0.2 #Ext 360 108 32 11 # 400
INAEE R 0.2 #Ext 1,000 43 # 1,500
A B 10, #@xt 18, 000 1,296 # 15, 000
F5NAE a5 0.2 #Ext 500 140 86 32| O# 500
A a5 5, +Y 1,500 1,944 1,620 1,404 # 1,400
o R 5 tAxt 1,200 2,160 # 1,200
=3 L AR, FKiH 0.1 #xt 1,000 43 # 1,000
Joyvaly— AL R, B5F 8 tAxt 1,600 2,160 # 1,600
L& R R 10| #@xt 6, 000 1,836 # 4,000
FUF YA R 0.2 #Ext 500 76 A 500
#HH AS BE. K 5  fBxf 3,000 1,620 # 3,000
#I AS HE. K b = 1,500 1,620 # 1,500
¥ B, S50 0.3 #xt 2,500 162 # 2,500
E—<> S5, =i 0.15 #Ext 4,000 119 A 4,000
Hk R 5| #Ext 1,000 2,160 # 1,000
EHE BERE 10, #Axt 3,000 4,320 # 5, 000
E¥ A4L, A3L b 100 +Y 4,700 3, 780 324 # 5,000
THEF A4L. ASL |FFE 120 +Y 16, 200 3, 564 324 # 2, 400
EA &E 20|  fExt 6, 000 4,860 H 5, 000
[CAI=K ks 11 +Y 1,000 1,728 756  # 1,000
EHE =2F 0.1 #Ext 2, 400 86 # 2,100
JFI42 A E%. B 0.1 #Axt 1,000 92 # 1,200




2/2

EGED HEMERUVRGEFEHEHREE HEH  SFTE05H08H
(HTHE) \FHEE NEHATARATHF 7 Eith 4
I\NFHRRFEH#KASH
rREmEELE HFHIE—
#l 5% B : fSF¥7%E05808H
I\EHRREETIBEGIEGEEIERVE2ZEDRTEICEY RDOESYRELET, ARFEH | SF75E05809H
3 EHh Hf] RH EFEHE SiE hiE ZiE| TR FEH=E
(kg) (kg) (kg)
JFIAS A E%. B 0.1 £=&F 30 86 #H 30
B A 68,940




